
1回 

 

54 × 25 + 75 × 54 ＝ 
 

 

 

13888 ÷ 224 ＝  

 

 

180 ÷ 30 × 72 ÷ 108 ＝ 
 

 

 

68 － 27 + 92 － 63 ＝ 
 

 

 

157 + 158 + 158 + 151 + 152 + 159 ＝  

 

 

21 × 34 + 48 × 17 ＝  

 

 

5.2 × 

3 

+ 35.1 × 

8 

＝ 
 

4 9 

 

 

453 + 534 + 345 + 354 + 543 + 435 ＝ 2664 

 

 

12 + 24 + 48 + 96 + 192 ＝ 
 

 

 

 
× 12 + 32 ＝   × 16 + 14 

※四角に同じ数を入れる



 

 

1回 

 

54 × 25 + 75 × 54 ＝ 5400 

 

 

13888 ÷ 224 ＝ 62 

 

 

180 ÷ 30 × 72 ÷ 108 ＝ 4 

 

 

68 － 27 + 92 － 63 ＝ 70 

 

 

157 + 158 + 158 + 151 + 152 + 159 ＝ 935 

 

 

21 × 34 + 48 × 17 ＝ 1530 

 

 

5.2 × 

3 

+ 35.1 × 

8 

＝ 35.1 

4 9 

 

 

453 + 534 + 345 + 354 + 543 + 435 ＝ 2664 

 

 

12 + 24 + 48 + 96 + 192 ＝ 372 

 

 

4.5  × 12 + 32 ＝ 4.5  × 16 + 14 

※四角に同じ数を入れる



 

2回 

 

83 × 77 ＝ 
 

 

 

25 × 75 × 36 × 32 ＝ 
 

 

( 1 

1 

+ 3 

2 

) × 20 ＝  

4 5 

 

 

24 × 24 ＝  

 

 

(   × 3 + 900 ) ： (   × 2 + 300 ) ＝ 2 ： 1 

※四角に同じ数を入れる 

 

22 × 67 － 22 × 47 ＝ 
 

 

 

7200 ÷ 144 ＝ 
 

 

 

240 × 72 ÷ 72 ÷ 24 ＝ 
 

 

 

54 － 35 － 55 + 82 ＝ 
 

 

 

96 + 72 + 67 + 58 + 83 + 34 ＝ 
 

 



 

2回 

 

83 × 77 ＝ 6391 

 

 

25 × 75 × 36 × 32 ＝ 2160000 

 

( 1 

1 

+ 3 

2 

) × 20 ＝ 93 

4 5 

 

 

24 × 24 ＝ 576 

 

 

( 300  × 3 + 900 ) ： ( 300  × 2 + 300 ) ＝ 2 ： 1 

※四角に同じ数を入れる 

 

22 × 67 － 22 × 47 ＝ 440 

 

 

7200 ÷ 144 ＝ 50 

 

 

240 × 72 ÷ 72 ÷ 24 ＝ 10 

 

 

54 － 35 － 55 + 82 ＝ 46 

 

 

96 + 72 + 67 + 58 + 83 + 34 ＝ 410 

 



 

3回 

 

27 × 26 + 56 × 13 ＝ 
 

 

18 × 

8 

+ 24 × 

3 

＝ 
 

9 4 

 

752 + 527 + 275 + 572 + 725 + 257 ＝ 
 

 

1 

+ 

1 

+ 

1 

+ 

1 

+ 

1 

= 

 

2 6 12 20 30  

 

 
× 15 + 116 ＝   × 17 - 36 

※四角に同じ数を入れる 

 

125 × 25 × 32 × 36 ＝ 
 

 

 

46 × 34 ＝ 
 

 

 

55 × 28 + 58 × 72 ＝ 
 

 

 

12 × 12 ＝ 
 

 

 

( 
 

× 1 + 4 ) ： (   × 4 - 24 ) ＝ 2 ： 3 

※四角に同じ数を入れる

 



  

 

3回 

 

27 × 26 + 56 × 13 ＝ 1430 

 

18 × 

8 

+ 24 × 

3 

＝ 34 

9 4 

 

752 + 527 + 275 + 572 + 725 + 257 ＝ 3108 

 

1 

+ 

1 

+ 

1 

+ 

1 

+ 

1 

= 

5 

2 6 12 20 30 6 

 

76  × 15 + 116 ＝ 76  × 17 - 36 

※四角に同じ数を入れる 

 

125 × 25 × 32 × 36 ＝ 3600000 

 

 

46 × 34 ＝ 1564 

 

 

55 × 28 + 58 × 72 ＝ 5716 

 

 

12 × 12 ＝ 144 

 

 

( 12  × 1 + 4 ) ： ( 12  × 4 - 24 ) ＝ 2 ： 3 

※四角に同じ数を入れる 

 


